AN

g%
T

1. ¥(8%4
4 SR TEE EBERBRAET =4 ) v JEHhRe S
JEAT ST A AT ) 1] ] SRS

2. EHEAR

1) ®HHA TR THE

H 4f1 74 5H27H
E 45 84 3A31H

2) AT 307 HRM

3) &t
AEBIE. EE)INTIBVTER L T 2 82B5IRAKRRIC BT 2 M - 2RM7RE
=2V T FEROGHEFEORR 21T 5 b DO TH D, Fio, Wi HLERHE
HEZITO DO TH D,

4) EBNE

TR 1
KRR —V 7 15X

BRI RE =& U o FRElikgEEE 150

o ELAGEE D



h

i

S

%lljll
I

N
¥4 | AP TEE BEIRBRASKE=2 Y o JiHERTES ER HEER
H H FEYE SR
TEHA - LfE - R =AY VA ¥ & & A OB N AR
e S & =X 396, 880
FHE R = = 396, 880
4 HR FEE SO A = 396, 880 | 4 HRELVESHIE
11 Jy
KA E 2 L, a0
Hu T 2 = 503, 810
IR IT R A oy 503, 810
SR AR A oy 503,810 | M1 b1 —V &
0.007) 1 (km2) =,
[ERE5 T = 37, 000
RS T¢ = 37, 000
o Pl o VR T 2 37,000 | EFRRAIERE
1 =
[EXERIIFSE =X 937, 690
GiEERIIESEE ¢ =X 852, 310
At =X 852, 310
ilf=er i = 1, 790, 000
— AR =X 6, 441, 204
BERER = 5,077, 028
MR —1U = 1,610,680 | HEAR—Y 7 (F—/La7R—U

-1

Eszi@ DY E R



i
I
iy
Tl
P=ai
i

XG4 | BT AEE EE)NEBIRARERE =2 Y o VIR S ER YR AR A
H H — A
HA - T/ - FE5 B B & 4 %A OB N AR
7 3.6 m
FEMEL « L b, BOmEL T, $RIE T, ¢
66mm
+ER—Y 7 = arTR—Y
) 0.3 m

b+ BYET L, 50nELF, ST T 7, 6 66mm
FER—Y v/ (P T R—Y

) 10. 6 m
WEE U0 4, 50mEL T, $RTE. T /7, ¢ 66
mm
+ER—=V 7 (F—na7TR—1
) 4.5 m
BEPEL - 2L b, 50mEL T, SRE T, ¢
116mm
+ER—=V 7 (A= aF7R—1
) 1.4 m
i« BYE L, 50mLL R, $R1EL T 5, ¢ 116m
m
TEAR—=YV T (F—narTri—V
) 20.6 m
BER T Y L4, 50mLL N, $RE R 5, ¢ 11
6mm
LT A 7 ORI R = ! 953,460 | FRIEHARUER
7 =]
itk L - 2o b
FEAEE AR
1 =]
e E L
FEAEE AR
32 =]

BEIR UV L
S KA

-2 - Eszi@ DY E R



=
=

it
T
iy
g%

EW4 | BRTHEE EF)RRASIRE =2 U o F RIS B YR AR A
H H — AR
THH - TR - R H AL ¥ = 4 #H OB R
4 =]
=3 v 0k
R ARALRIE oy 1 235,800 | i
2 IL
FLANEHA - FLNEER 2V 1 346,000 | FLANHRIEEHIE
2 [=]
B RE/KALFE oy 1 1,095,668 | F— & [a]lX
64 ]
g il
68 5]
Bl iR X 1 112,000 | E=X U o 7 {&HT
1 [=]
Pk B iR AT
1 [=]
SRR v 1 411,860 | ki % R
26 OBk
+OEKLER
26 v s
ook EERER
4 v s
ook EE R ER
22 B
Ko AT X 1 186, 560 | fRHTS A
1 K
ATy 2 1 119,000 | &E-FRR A IER T
1 K
e B % X 1 6,000 | MEEL%
3
MR AR X 1 1,364,176
TER v 1 103, 770 | EfREY
1 =

4 ELAGEE D



B
¥4 | AP TEE BEIRBRASKE=2 Y o JiHERTES ER A
H H — A
TEHA - LfE - R =AY VA ¥ & & A HMoB N R
Hefif =X 350,390 | YEf M O30
1 =
T FLEAZE
1 =X
$aKE (R v 7 ElR)
1 K
S = 442,000 | R
1 K
Ereeot=¢ = 324,000 | 4%
1 =X
BREEIR A (R
1 K
i AL = 108,519 | fc#y (i Lk - 1B
1 K
it T PR = 35,497 | Mi /&%y
1 K
BRI =X 6, 441, 204
ik ¢ = 4,478,796
R = 4,478, 796
— TR = 10, 920, 000
MRS A = 1, 166, 292
[EREE 3% = 1, 166, 292
AT A = 1,166,292 | FFE Y
1 k%
FRNT R
1 =

Eszi@ DY E R



¥4 | AP TEE BEIRBRASKE=2 Y o JiHERTES ER A
H H M (2 OMFMER<)
TEHA - LfE - R =AY VA % & & #H OB R
ERREM (ZOtFEMmER<) =X 1 1, 166, 292
& DAt AT = 1 628, 048
— i B 2V 1 965, 660
AT SR R oy 1 2, 760, 000
TR S M 2V 1 13, 680, 000
GRS ST =2 U v VRS oy 1 1, 780, 870
EIRARE T = V) o J Rtk oy 1 1, 780, 870
LEBE DIRIE X T B BV 2V 1 632, 800 | EFDET LAk
1 [Eha)
FRATF RS DR E
1 BT
PEBG DI B FLARNT
1 =
BEBL DIRZ k3 B VR A = 1 834, 870 | HEIHDIRGFRARMT
1 =
R s A BHERK X 1 313,200 | “FiE Wik BHER
2 =]
i@ X 1 537, 850
HiE GREHER) X 1 537, 850
FTews =X 1 437,500 | TAE
1 K
Z D, = 1 100, 350 | AN FIC L 2 HE
3 =]

L ELAGEE D



= /oA W =
H =7 PR
¥4 | S TEE BERMRASKRE=2 Y o JEHER ER BEES
H H EERE
TEHA - LfE - R =AY VA 4 A OB R
B =X 96, 000
RS T¢ = 96, 000
%%Eﬁ%ﬂ%{?ﬁi% it: 96, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 =

EEFAM (2 OMFEMmER <) = 2,414, 720
& DAt AT = 1, 248, 630
— i B = 1, 966, 650
SRR oy 5, 630, 000
SRR oy 21, 100, 000

Eszi@ DY E R



